
Another nice consequence of FTLI :

From Jc tf - d5 = flB) - FCA) we know that

foot - ds is independent of path .

Turns out : LF - DJ indep of path

#

f I.DI -- O for anyD

closed path D.

Why ?

Sps. fries indep of path . let D be a closed path .

:O
.

§ F.ds =L
Mdgs. of path

•

A-- B
§ F -ds

where C given
by XTOI -- A -- B .

Alt: ft .ds -- fgf . ds } =!!.PT/iI.x4ttdt=fCB)-flA)--flA)-flA)=oT



OTOH
, Sps §pF . DJ = o for any closed path D.

C ,

consider

summary : on a simply connected region :

curl E so ⇐ If conservative
( or My

-

- Nx)
⇐ fat .dj independent of path

⇐ foot . DE = O for any
closed path C.

my
hits : f

,

if - ds --f.E.ds .

↳ Note C -- C
,
U - Cz is

a closed path .
*

O -- fo it . ds = fo ,F - ds + IgE . ds -

- f
,

E. ds If,Fds
⇒ f. E - ds -- fzf.ds.ie independent of path .
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